Jet multiplicity

5104 —— MC (Rivet.r1406)
% = . —— MC (Rivet.r1498)
B —e— data
103 =
e ¥
102 =
- :\ I — I N I N I I I I [
£ 14
S -
O 1.2 -
= E , |
0.8
0.6
I ‘ I ‘ I ‘ I N | ‘ I N ‘ [
0.5 1 1.5 2 2.5 3



Jet p for inclusive Nje > 1

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

101

t

’=l

MC/data
—_ =
o

T
i

0.8
0.6

RARARRN!
—
[

| ‘ I ‘ I ‘ I ‘ I ‘ I | ‘ I ‘ I
50 100 150 200 250 300 350 400
p1(jet) [GeV]




— 102

101

—_ =
N

MC/data

0.8
0.6

Jet p. for inclusive Njeq > 2

—— MC (Rivet.r1406)
i —— MC (Rivet.r1498)
L —e— data
= T
| 4
E T
B d

+
E | ‘ [ | | | | | | [ | [ | ‘ [ | |
i\ ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1
50 100 150 200 250 300

p1(jet) [GeV]



1/ado/dly|(Z)

1/odo/dy(2)

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

S \‘H\‘H\ H\‘H\‘\ T




—_

H
I
X

A
9
[\v]

> Nijet jets)/o(Z/~ inclusive)

1+
o
&

MC/data o(Z/
o —_ =
o = N

e
o

Inclusive jet multiplicity

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

I G
E l
2 |
E | | | | | | | | | | | | | | | ‘ | |
= | .
:T | ‘ | | | | ‘ | | | | | ‘ | | | | ‘ | |
0 1 3 4



pL of 1st jet for Njey > 1

- —— MC (Rivet.r1406)
- —— MC (Rivet.r1498)
B —e— data
B I
= ‘ | | | | | | | | | |
E ‘ | ‘ ‘ | | ‘ | |
50 100 150 200 250

po (1st jet) [GeV]



102

ljoq/p-L

101

DO

pL of 2nd jet for Njey > 2

| o —— MC (Rivet.r1406)

H —— MC (Rivet.r1498)

C —e— data

L

3 n

?\ | ‘ T | | T | 1 1

? =|:1

i\ | ‘ ‘ ‘ I ‘ I ‘ I ‘ I

0 40 60 80 100 120 140 160

p1(2nd jet) [GeV]



ljoq/p-L

101

—_ =
N

MC/data

0.8
0.6

pL of 3rd jet for Njey > 3

i —— MC (Rivet.r1406)
—— —— MC (Rivet.r1498)

— —e— data

E | | | | | | | | | | | | | | | | |
i\ | | | ‘ | | | | | ‘ | | | | ‘ | | | |

20 30 40 50 60 70

p1(3rd jet) [GeV]



Z pT

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

=

< ARRRREAR




MC/data

—_ =
N

e @
S o =

Z pT (forward region only)

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

:

i

-

-

Sy

\H

o\‘\\\‘\\\\\\‘
ot
—
[aw]
—
ot
[N}
o
[N}
ot
w
()



1072

—_ =
N

MC/data

0.8
0.6

2

Differential cross section in leading jet p

- —— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

.
T

I 11 ‘ L1 ‘ 11 ‘ I 11 ‘ I 11 ‘ I 11 ‘ 11 ‘ I 11 ‘ I 11
40 60 80 100 120 140 160 180 200
po (1st jet) [GeV]

o



—_

MC/data
o O _ =
o 0 o~ oo

S \‘H\‘H\ H\‘H\‘\ \\\‘

Differential cross section in leading jet rapidity

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

—

|
1.5 2 2.5

ly|(Lst jet)



0.8
0.6

Differential cross section in Z/vy* p

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

—e— data

S T
IS
=)
—
o
S



do/dly|(Z)

Differential cross section in Z/~y* rapidity

. ) — MC (Rivet.r1406)
" ¢ —— MC (Rivet.r1498)
N w
| S —
: [ [ - L1 1 L 11 L 11 L 11 L1 1 L 11 L 11
E l:l
i\ [ ‘ L1 ‘ L1 ‘ [ ‘ [ ‘ [ ‘ L1 ‘ [ ‘ [
0 02 04 06 08 1 1.2 14 16

1.8
ly|(Z)



20

15

10

Total Z + jet cross section

—— MC (Rivet.r1406)
| —— MC (Rivet.r1498)

T —e— data




pT of 1st jet (constrained electrons)

—— MC (Rivet.r1498)

—e— data

1T W\‘

%

50 100 150 200 250
1st jet
Py

300
[GeV]



pT of 1st jet

,_.
3
(V)

—— MC (Rivet.r1498)

—e— data

1st jet

1
T \HW\‘

_ 1/odg/dp
o
&

0—4

107°

106

—_ =
N

MC/data

ﬁ

0.8
0.6

50 100 150 200 250
1st jet
Py

300
[GeV]



1/ada/dpifd Jet

—

—_ =
N

MC/data

pT of 2nd jet (constrained electrons)

T \HHH|~+\

—— MC (Rivet.r1498)
—e— data
—o—
+
C +
- .
| T
\\\\\\\\\\\\\\\‘\\\‘\\\\\\\\\
f:l_l_
T\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\

o

40 60 80 100 120 140 160 180 200
P [GeV]



1/ada/dpj:1d Jet

10~4

10-5

—_ =
N

)

MC/data

0.8
0.6
2

pT of 2nd jet

+

T

—— MC (Rivet.r1498)

—e— data

é
T
o e b

o

40

60

80

100

120 140 160 180 200

2nd jet
Yz

[GeV]



pT of 3rd jet (constrained electrons)

—— MC (Rivet.r1498)

—e— data

|

| ‘ [ | ‘ | ‘ I ‘ [ | ‘ | ‘ [ | ‘ I |
25 30 35 40 45 50 55 60
P [GeV]

o



pT of 3rd jet

5 r — MC (Rivet.r1498)
iy —e— data
S ——
~
3
b1074f
&5 e
— r
- .
- T
10_5;
- :\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
< 14 F
S -
O 1.2 =
0.8 — |
0.6:\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\
20 25 30 35 40 45 50 55 60

P [GeV]



=

1/odo/d|An(Z, 1st jet)]

0.8
0.6

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

3 4 5
|An(Z, 1st jet)]



I
v

1/odo/d[AR(2nd jet, 3rd jet)|
S
w [V)

—
3
I

—_ =
N

MC/data

e @
S o =

—— MC (Rivet.r1406)
C (Rivet.r1498)

?\ | | | | | | | | | | | | | | | | | \_
F 1t I_l_l 1 —

F 1

i\ 1 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1 1 1 ‘ 1 1 1

0 1 2 3 4

5

|[AR(2nd jet, 3rd jet)]



Exclusive jet multiplicity

T HHW‘ T \HHH‘ T \HHH‘ T \HHH‘ T \HHH‘ T TTTTI

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)




)

Inclusive jet multiplicity

—— MC (Rivet.r1406)

- —— MC (Rivet.r1498)
=
3
-
- L
F \ \

0 6 8

]Vjet(210 GeV)




Ratio of jet multiplicity

ot)/0(= Niet — 1)

e

=

o

107" [—

1 |

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)




T
h
o
=h
—
w0
-+

—
&)
-+

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

S \‘H\‘H\ H\‘\H‘\ HHHH‘ HHHTF‘ HHHTF‘ HHHH‘ HHHTF‘ HHHTF‘ HHHH‘ T TTTI

300 400 500
P [GeV]



Exclusive jet multiplicity

il

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)




Inclusive jet multiplicity

HHHH‘ HHW‘—WWW‘ HHHH‘ T

Bl

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)




UAZ Nijet)/0(> Njey — 1)

Ratio of jet multiplicity

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

Izlz




ie)
H
]
=
[N
B
(oW

—
D
-+

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

S \‘H\‘H\ H\‘\H‘\ \HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ T TTTIIT

|
50 100 150 200 250 300
P [GeV]



il
=
]
=
w
=
(oW

—
@D
=+

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

S \‘H\‘H\ H\‘H\‘\

50 100 150

200

P [GeV]



4th jet
R -
(e}

L

1/odg/dp
3

H
9
w

S \‘H\‘H\ H\‘H\‘H‘

o]
=
@]
=
e
o+
=

—
)
-+

= —— MC (Rivet.r1406)
E —— MC (Rivet.r1498)
3 L
\
—
— LI
| ‘ ‘ | ‘ | ‘ | |
20 40 60 80 100

P [GeV]



logo(kL jet resolution 0 — 1 [GeV])

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

2.5
logyo(do1/GeV)



logo(kL jet resolution 1 — 2 [GeV])

1 — MC (Rivet.r1406)
—— MC (Rivet.r1498)

\‘H\‘\ T H\‘H\‘\ HHW‘ HHHH‘ HHHTF‘ HHHTF‘ HHHTF‘ HHHTF‘ HHHTF‘ TTTI

0.5 1 1.5 2 2.5
logo(d12/GeV)



log;o(kL jet resolution 2 — 3 [GeV])

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

— —

'd-lu\\‘\\\‘\\

|
=

0.5 1 1.5 2 2.5
logyo(das/GeV)



logo(k.L jet resolution 3 — 4 [GeV])

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

' =
=~
H‘H\‘\HW\

H
I
1
|

ﬂTF

2 2.5
logo(dss/GeV)




Ry

10~1

—_ =
N

MC/data

0.8
0.6

log; o (Integrated 0 jet rate in k; [GeV])

—— MC (Rivet.r1406)

MC (Rivet1149R)
ot FvetrT 13997

2.5
logyo(deut/GeV)



log; o (Integrated 1 jet rate in k; [GeV])

E —— MC (Rivet.r1406)
—— MC (Rivet.r1498)

x

o
ot
—_
—_
ot

2 2.5
logyo(deut/GeV)



log; o (Integrated 2 jet rate in k; [GeV])

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

\‘H\‘H\ H\‘H\‘\ HHW‘ HHHH‘ HHHH‘ HHW‘—WWW‘ HHHH‘ HHHH‘ TTTT

0.5 1 1.5 2 2.5
logyo(deut/GeV)



log; o (Integrated 3 jet rate in k; [GeV])

—— MC (Rivet.r1406)
MC (Rivet.r1498)

1 [1]

0.5 1 1.5 2 2.5
logyo(deut/GeV)




log; o (Integrated 4 jet rate in k; [GeV])

—— MC (Rivet.r1406)
—— MC (Rivet.r1498)

#

0.5 1 1.5 2 2.5
logyo(deut/GeV)



1/Jdaldmz
S

1072

N
B
©
0
n

—— MC (Rivet.r1406)
MC (Rivet.r1498)

J#'
=
J]:u

)

s
q




